PACKING LIST

FOR

REAR DISCHARGE MOWER - MODEL R42

This package contains the following items as specified:

Number Description Quantity
; 35 Mower Housing Serial # Z-CAr YA 3
25 Mower Attachment Arms 542C872G1l 2
3. Kit Box 1-B-R containing:

a. Blades 163B9871P1 3
b. Castor Asm. 211A3222G1l 2
c. Rt. and Lt. Adjuster
Rt. 163B9801Gl +
Lt. 163B9801G2 3
d. Rear Roller 243A4607P1 5
e. Pack #8 - (Clutch Asm.) 163B9932G1 1
f. Pack #9 - (Grass Defl. Asm.) 243A4519Gl i
g. Pack #10
3/8-16x7/8 Bolt N22P25C14B6 4
3/8-16 Nut N258P25B6 4
3/8-16 Spring Lockwasher N405P13C6 3
h: Fack #11
Spacer 211A3255P1 0
Castor Brg. 211A3236P1 4
Grenade Clip 211A3471P1 4
Wing Bolt 243A4571P2 2
3/8-16 Jam Nut N213P25B6 2
3/8 Flat Washer N402AP43B6 2
5/8 Flat Washer N402AP17B6 6
3/8 Lockwasher N405P13C6 2
3/4 Flat Washer N402AP18B6 2
i. Springs 211A3455P1 2
"S" Hook 244A7113P1 2
Chain 24477112P1 2
j. Retaining Ring 244A7216P1 2
k. Sleeve 244A7215P1 2
4. Rear Flap
Flap 243A4517P1 1
Strip 243A4520P1 i 5
e Assembly Instructions i
6. Rear Roller Shaft 243A4608P1 :




